Providing Reliable Engineered Solutions

TABLE OF CONTENTS:

PAGE 1 | COVER, TOOLS REQ'D

PAGE 2 | HARDWARE PROVIDED &
PARTS LIST

PAGE 3 | ASSEMBLY INSTRUCTIONS

PAGE 4 | ASSEMBLY INSTRUCTIONS
(CONTINUED)

Saf-T-Stor® Gas Cylinder Storage Cabinet

Saf-T-Combo
Assembly Instructions

0 — .
e (DANGER)
DaSER

FLAMMABLE

I
4

|

TOOLS REQUIRED:

7/16”
[11mm]

FGI-655 RevA 04/23/13

7/16”
[11mm]

OPEN END WRENCH MEASURING TAPE

Copyright ©2017 Folding Guard, A Member of Troax Group

PAGE 1 of 4



HARDWARE PROVIDED:

-

) 1/4” FLAT WASHER
E) 1/4"-20 HEX NUT

KT015
X1

K X 84 x 84 X2

X8
e @ =[P
x11 /

an
CELY \
N
(L] \
R
R
] N
R
N
o N
R
R
(] \
R
L] \
!/\i
VERTICLE DOOR: WELDED PANEL: WELDED
ANGLE (x8) WIRE MESH (x2) WIRE MESH (x5)
)
)
FLAT BRACKET (x1) SHELF (x4) (x1)

FGI-655 RevA 04/23/13 Copyright ©2017 Folding Guard, A Member of Troax Group

L

LOCKING
BAR (x2)

7\ HARDWARE LIST;
AG C) 1/4"-20 x 1" SQUARE NECK CARRIAGE BOLT
BA A X 57 A
AG) 1/4”-20 x 3/4” SQUARE NECK CARRIAGE BOLT
. AM) 1/4"-20 x 1-1/2" SQUARE NECK CARRIAGE BOLT
X BA) 1/4"-20 x 1-3/4” SQUARE NECK CARRIAGE BOLT
BB) 1/4" LENGTH PLASTIC SPACER

HARDWARE KIT (x1)

DANGER GAS
FLAMMABLE SIGN (x2)

SHEET METAL TOP (x2)

PAGE 2 of 4



INSIDE VIEW

INSIDE VIEW

BACK SIDE VIEW

5

NOTE: THIS SIDE IS

ASSEMBLED IN STEP 1 \

FGI-655 RevA 04/23/13

LEFT & RIGHT PANEL
ASSEMBLY

) 4

y J

XXX XX XX

XXX XXXXXXXXXXXXXXXXXXXXXXXX

SN NN SN S S YA YN YYY
ARRNRRRRY90:0.0.0.000.0.00.0:0.0.0.9.0:
NAA/ 4
VOOOCOCOOONGHO0
S O T LT Y
\ \XXX'XXXXXXXXKKXX KX A X XA X XX X XK X XK X A&

i BACK SIDE VIEW

INSIDE VIEW

¥
ALY

Copyright ©2017 Folding Guard, A Member of Troax Group

LARRARRARAANY

A%\

A\

\

S\
AR\

FANMARARRAAN

s

K

ARANY

CENTER PANEL
ASSEMBLY

NNV IVENNNENE IV YNSRI Ve ew Y

A\
ATRANR\AAAVAVAVAVAT
ANV VAVLAVAYAWAY

PAGE 3 of 4



7 LOWER SPACER DETAIL

FRONT / TOP DETAIL

e

=

=

=

0 Oé

i
Ess
///
o ///
o= ///
///
[ <0
- INSIDE VIEW
71 ">\h> )
. REPLACE AG
BOLT
A = wITH C BOLTS AS
o g 574,%3 SHOWN
Cme
° e =
Darg s

TYP. LOCK INSTALL

FULLY TIGHTEN ALL NUTS

COMPLETE STEP 889
FOR BOTH DOORS

1 DANHF,P

Il NOTE:

il ®  CHECK DOOR ALIGNMENT, ADJUST DOOR
;ﬁ HEIGHT ACCORDINGLY.

° ZIP TIE DANGER SIGN TO LOCKER DOOR

i | el

FGI-655 RevA 04/23/13 Copyright ©2017 Folding Guard, A Member of Troax Group PAGE 4 of 4





